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ECONOMICS
( Major )
Paper : 5.6

( Development Policy and the Indian
Economy )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
oo il epEe ed fors

(@) Name the person who -calculated
national income in India for the first
time.

TRES YN qE9 FAC ABE TR oAF 0

TfEsRR =Y foa |

(b) According to 2011 Census, what was
the sex ratio of India?

2055 (FRPEE WO SHeq s TS

T erifez 2
(c) Define poverty gap.
TfqeR F1e I |
(d) What is food security?
3 9 2



(12,) (3)

(e) Write one important objective of land 3. Answer any three of the following : 5x3=15

reform in India. woe T & @l oo Taq foyan
©[eq §f‘3{ SRERA 9o @W"i‘fm far2m | (@) Explain any five features of India’s

i i tional income.
() Mention one major problem faced by ae o O o B 10 |
microenterprises of India. SHey g i
O[T FU SCAIPTCR TR @RI <GB A4 7 91 |
ST TCEY 4 (b) Suggest five measures to check the

rapid growth of population in India.

(g) Write one point of difference between sed 7o G PRI @f’\?l (4 R #fo0!

large and medium industries.

s SARCERT |
TR I T SIPTRS W <57 ey e | () Explain the causes of poverty in India.
SMEERTIRIISEIN
2. Answer the following questions : 2x4=8 wreq TRaer I 2
(d] " StggestiVEgIIERHTES to improve
e fug PTRA Teq for B ultural productivity of India.
RISl SNO FRACE D0
fa) Define birthrate and death rate. SIEICH Tﬁ—q %ql o SR
T TR WIF TP 2499 @ B | oprape{ SHIAIACeRT

ain briefly the importance of

. Expl
(b) Write two causes of educated f7 in)iilzlstries in the development process of
unemployment in India. India.
Saeq PR e 761 e fora | oo T oS ST vy ve
(c) Point out two main limitations of public RURUSALE
distribution system in India. ol i E
e of the following : 10x3=30
oY e e TAER 51 44 e 4. Answer any thre o
S i Wwﬁﬁmﬁﬁm w9 forey
(d) Mention two important features of the (@) Discuss the basic features of Indian
i Industrial Policy of 1991. economy- 10
o83 b Soifae Mew 1o e tafiy oS AT T CTEPTR ST 3o |
TCES 9 |
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(4)

(b) Explain the different factors
responsible for inequality of income in
India. Write  briefly the various
measures taken by the Government to
reduce inequality. 5+5=10
SRS UH  EPReR I SR
RS SomreeR = 91 | SRl 2p sRa
BRI 22 91 RS Serpr 4G foran |

(c) Discuss the major Dbarriers to
agricultural growth in India. 10
S[ed $AL Jad S4 IOTR ST <64 |

(d) Analyze the positive and negative
impacts of Green Revolution in Indian

agriculture. 5+5=10
SO FRe Ctw Redw e 9% 4ee
ASTPTZ F2A (v

(e) Critically discuss the role of large
industries in India’s economic
development. 10
SREY AT e 28 Sried g
STACATBATSIFOICE SCADAT F4T |

() Compare the industrial development
strategies of India in the pre-reform and

post-reform periods. 10
ARWPR EF  MICASR IO O]
ST TR (e el < |
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